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SECOND YEAR MODEL EXAMINATION- FEBRUARY 2018
Part 111
ACCOUNTANCY WITH AFS
Maximum : 80 Scores

Time : 2%2 Hours
Cool -off time : 15 Minutes

7 : ¥ -
General Instructions to Cendidates -

* Thereis ‘Cocl off timz' of 15 minutes to the writing time.

*  Ussthe 'Cool off im=" (0 get fzmiliar with questions and to plan answers.
* Read questions cur=fullv before answerin g.

Write answer to the sp=cific number of questions as instructed.

* Calculations. figures and zraphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

* Give equations whzrever necessary.
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Electronic devices except non programmable calculators are not allowed in the Examination Hall.
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PART A ACCOUNTANCY
(Maximum Score : 40)

Answer any following guestions from 1-5 Each
carries 1 score.

® @ @ ° @ »

@20y omanlolasim 1 aymad 5 ueo
G21033BU3a8 QOMONDY)N . 1 A¥ed3 afme

I. Receipts and payments account is equivalent 1.

o

(a) Profit and Loss account
(b) Balance sheet

(c) Trial Balance

(d) Cash Book

In the absence of written agreement, what will
be the rate of interest on Loan advanced by
the partner

(a) 10%

12

(b) 8%

(d) Not eligible for interest

{c)6 %

3. Atthe time of admission of a pew partner, the
Reserve Fund balance in the Old balance sheet
should be transferred (0 which account,
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@ Al partners capital accouny
) Old partners capital accoun
¢) New partners capital accoun

&) New partners current account

4. The premium for goodwill brought in by the
NEW partner is transferred to Old partners
Capital account in the

a) Old ratio

b) Capital ratio

<) Sacrificing ratio
d) New ratio

3. On retirement the retiring partner’s capital
account will be credited with

a) His share of goodwill
b) Total goodwill of the firm
¢) Share of goodwill of remaining partners

d) Loss on revalution,
axl=h

Answer any 4 following questions from 6 - 10
Each carries 2 score.

6. Classify the following items into Revenue
Receipts and Capital Receipt

a) Locker rent received

b) Life membership fee received
¢) Specific donation received

d) Sale of periodicals

7. Record the following informations in the
financial statement of Surabhi Arts and Sports
Club.

4,

) ayeamd AlDOglahgasw)o ayerm
WD D6 TG I 6

onll) nwa aAIBOglageos ayeiwm
@HODMEER I 06
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@RAO MR D)

W) apole amogloes @;moaf
. @ROOMeNE eI o6

Ao a1mmogl ed:08)0I0)M™ v)aailod
ll2lo alladloe alem alB08]dhE)0s
WMEILM OO DENRIGLIT D8 AgO
TRMOO@DIRIMNT 209N,

af)) PR ARM)AOENGI

nil) @jeIwm @em)almoIEs
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wl) apole aem)aooonlos
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wil) oluoelyeaisdad masiso

5x1=5

6 M@ 10 WOR Eala)EREIDS @omeslene 4
2UMNROB) M. BICRIMIM)0 2 MWeHId aflmo

6.

@MDY ORISYTTIBIBe™ gDMeIBEDD oaumy)
©0Mlalg @ y0aflgad 80aVlaig agymowmi
®Ro®IB186) B

af)) GRIHOA 00 &5l

nfl) ooelad O2amMIBatfla] a0l @IS0
avl) ASeaIrilacles muocomum SISl
al) afelcwacuslenadons aflga

™oeY® mMIdlenm allaiosanud ao)oe)

@Sy e miealdSas oo
a0lmomnss @3 eqygoaniiod

BOELINS O .
Basket Ball Tournament Fund Rs. 60,000
Donation for Basket Ball Tournament Rs. 4,000
Sale of Match Ticket Rs. 10,000
Basket Ball Tournament expenses Rs. 20,000
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10.

List out any four contents of partnership deed

Write any four situation

! s that need adjustments
at the time of retireme

nt of a partner

State the accountin

: g treatment of followin
1tems at the time of :

dissolution of a firm

a) Un recorded assets realised

b) Un recorded liabilities paid off

Answer any 3 questions from 11 - 14. Each
carries 3 score.

11.

From the following information calculate the
amount of subscriptions to be credited in the

income and expenditure account for the year
ended 31/03/2016

UBOGIOD $0000M agomelene Mmoe
DBBSH0 af)9) @b,

80} al@gl ailoglesym Tuaads snjaelnd
Sl aRom@1e)s MIE]
BRUSRIIONT) 0B ng)e)m) .

0. a0glem TuodalMo aflalafnilsymm
M2VGD Moae mmmslesyam ailunsanud
AIEIBOM  BOELO SO0

nf)) GEAIAS)TmOICT @RyTI@] M)

6nil) COAINNISITMIOD ETUIW §MB:Ud
B335) O] 4x2=8

" D)®EE 14 UNO Ca103ysaRglGd agimdsleljo 3
Ag)SMOBIM) DAMOHAY}M)h. BICGAITNIN)0 3
aUed08 anme

" omlges allueooiad mlanje 31-03-2016 @3
@RAITLIMISNIN D0 @G
af) & MIealnFlajd @peaDsnElod
TUERIMHlainHM® af)® O(BUNG
D 2IQEMORAT)  &6112)ilS166) .

Subscriptions received during the year 2015-16 Rs. 40,000
Subscriptions outstanding on 31/3/2016 Rs. 5,000
Subscriptions received in advance on 01/04/2015 Rs. 4,000
Subscriptions outstanding on 01/04/2015 Rs. 3,000
Subscriptions received in advance on 31/03/2016 Rs. 6,000

12,

13.

14.

What are the main provisions of the Indign
Partnership Act 1932 that are applicable in
the absence of written agreement.

Mathew are partners sharing
gll':)(g??r? t;g(xl'atio of 3:2. They adlmit Joyin t-o
the partnership for 1/5th share in the future
profits which he acquires equally from Th?-
mas and Mathew. Calculate the Ne(\iwlpro it
sharing ratio of Thomas, Mathew and Joy.

1/12/2016
i Joyed by a firm on 3

e (:g n;](;aom(fOO and profit for the last four
was . L] v .

years were as follows:

2. DAIB al&:oglom MIWae 1932 (aldh0@o
PeI®l ®gooowel®  gsauslwyes
@RRIAIMTIT aglOTNINEE AULAKTLOSUB @ryETT
aloeileenz o) ?

3. GOOOTLe 2O/ alEgl:g0e). ensane

MatiSaRe  @RAG 3:2 AfaM @RM)AIGGIC
aoldsea)m). rad emole® 1/5 eneo
DHIS|HNIHAAN AUYAUTUOCWINS alBHIS IO
MUOdAINEMICRIT S Cal@Bn)aN). cRoWos
@REFaOOMIn dela0l®e emonmylod
Mo DO®LII@ mIaMo m)elyadw)
e1Eleeam). cmIaMilog@ie ar@yalagw)o
CRIVIW}OHSWIo  all@®IDW  LIVRMAIS
@RM)al0®o  @heTB)allSIHn)d:.

U, 80) MUOoaIMamION 31/12/2016 o1 peIwmo
5,00,000 @)aI@O6EM. SHYIM MOE] UBHOHOD
gIDRo 2013 Rs. 40,000, 2014 Rs. 60.000, 2015 Rs,
65,000, 2016 Rs. 75,000 @REN). @RATLOWIDED
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2013 Rs. 40,000, 2014 Rs. 60,000, 2015 Rs,
65,000 and 2016 Rs. 75,000. You are required

ensomilat 3 oglw)es msiTursmaning
)i nfi ol 600 ad) SV a6y ) . DA 6 oy

to findout the value of goodwill based on three
years purchase of the super profit of the

business. Given that normal rate of return is
10%.

Answer any 2 of the following questions from
15 - 17. Each carries 5 score.

15. Explain the basic features of income and
expenditure account and Receipts and

payments account

16. Explain the various methods of valuation

goodwill.

17. Jishnu, Vishnu and Mahesh are partners in a

firm. Mahesh retires from the firm. On the date
of his retirement Rs. 50,000 is due to him.
Jishnu and Vishnu promise to pay him the
outstanding amount in five equal installment
plus interest @ 10% per annum on the unpaid
balance. Prepare Mahesh’s Loan Account.

Answer the following questions which carries
8 score.

18. Haritha and Tinu are partners in a firm sharing
profits and losses in the ratio of 3 : 2. They
decide to dissolve the firm on 31/12/2016.

MW aleflus Tlodws 107 aran,

3)(’5 =0

15 D)@ 17 UNO Ca1933:08a103 agommlens 2

2UOMDHBY)M)dh. BICOITIMI0 5 TWeHhIB
aflmo

5. @B @YY af)dmionialayd
@RSHDEEING@)o HOMVIAIGaS g
G2 @PSHVETEING)0 @RSITUOOM
MUIRBOAUEIRUE llud]as)d.

16.  O)AWAT HEMENHN)TD ULDITID)
@13 Alladles)d,.

17.  eladiemyane ailaiem)ano 2Ga0-)o B0)
MLOOAIMNEMINL! AlB:0E]SHBEM. BCaN
MuOdaIm@I@d mlanye ailedlss)mm).
@Re3anomilang allodleadd Tuam) 50,000
@)l @REFAOTWIN H1dH0S)HH)UIM)ENE.

elaadiemn)ailo aflatiem)alje M@eaeme M) 5

mely a0 MTISHNAAN)o
@REMINSIaje BRI QUBaHo MTBCHENE
MHTBE 10% aleilvwlo MTBHo0T

BGa0HIT QGBI MBS BEanHlO
GRIEND @ERAODENE THYINIH) .

9)M)b. 8 TVCHID .

18.  anGI®@W)o SIMale B0) AlB:0Som
MO INTTNOL! AlE0S]B:806M, @RAUAG
210800 Ma¥SAlo 3 : 2 ag)am
@M)W  aflailen)mas.
31-12-2016 M @PAIA SISO TUNdAIMo
afl@lajailsianm @loyzomlay.

2x5=10
@™oy mmMIRlEn)an caldayomia) pomosnd

r Balance Sheet of Haritha and Tinu as on 31-12-2016
Liabilities | Amount e Attt
o 30,000 Cash in Hand 10,000
Bills payable 90,000 Sundry debtors 1,00,000
Sundry creditors Stock 40,000
Capital Investment 1,00,000
Haritha 1,20% Plant 70,000
Tiw  897F 500000
SR
3,20,000 3.20,000
| e i ST Accountancy with AFS - 4/8
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Assels an a . :
coll and liabilities were realised as e O R
follows. ' 2 :

b3 ',711",-—,5 frs#il

a % .. .
; ] I;’mm realised at Rs. 80,000 wB)) WG V000 xSl vy,
) T L , e e : AT

qﬂw;lmem realised for Rs. 90000 sty B WIRea Y ol tinsded nivy,

€ Stocktaken over by Haritha at an agreed value o)) angln Yyl sa 00 tpardieds e
of Rs. 35,000 oS5,

J 5 e
d)

Debtors were realised less 5%

&) Creditus o » ) wsrieg¥al s4 sya] eslay,
cditors and Bills payable settled at their @) Wwoslagbigs soivd garwsnilg,
book value syosilen g ailerilsl giser OB [N,
VLG,
£)

Realisation ExXpenses amounted to Rs. 5000 agynll ) CVLEBEME LA Ty D) S @l skl

4
A e
S R

Prepare realisation account, partners capital

OVDEDICTOt'Ts By Dss Py P TG 5
account and cash account, YEIUST DEEY TR dnl ot Bt i,
1x8 =8 -"'J)'.gf)ﬂ')ﬁlzcﬁl. Yun =%
PART B

ANALYSIS OF FINANCIAL STATEMENT
(Maximum Score : 40)

Answer the following questions from 1 - 5 each

mIny @mmmIslanian 1 aymah s
carries 1 score.

S U
Ca1da46IUBAS PONODDYYD)B, 1 TG Afims

1. As per Table A interest on calls in arrears is 1 asenildd nf) (000 BB o
anolefailm)es aleilu

(@)3S % 6% (8% (d)12% af))s5% en)ey avl)ew )iz
2. Balance of share forfeited account is shown 2. 9aMWA eabOBanIQNS @B sEsT

in the Balance sheet under the head SrUEINBaY, enioeiBad dldss ﬁlﬁ’ﬁ';'

) DEDANSILET B85S,

a) Share capital af)) Oauwd @oqflgud
b) Reserves and Surplus endl) Glaudali orj’ U
¢) Current Liability

asl) Mng" m@sm‘leﬂg"l
wil) emosm BH0TG erosnileigl

3. Debenture does not carry a specific rate of 3. ey aleluo Mloss AN mITT HSaf o
interest is aR©)

a) Bearer Debenture

b)  Specific coupon rate debenture
c) Zero coupon rate debenture

d) Un secured debenture

d) Non current liability

af)) enllwod &S| @o

onil) Mioaimiladia; Safd COY BSaf oo
@il) avleon Slafomd eog Sl o

W) @smd emuesy)eaidas &HSnl(@0

4. Which one of the following not comes under 4.

@5 MATIBIAN)MUDNGE Hnmd
the head share holders fund

CaDdWBEAWETS A06ME ag)T BEINSHZITE
QUOIA DMo aR®?

) OHDEA dhy0nflood

nil) owd apgileopum 2eml oamdues
@RERIDFONG

a) share capital
b)  share application money pending allotment
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C) reserves and surplus
d) money received against share warrant

5. Given Sales 1,50,000
Gross profit 30,000
Gross profit ratio is
a)30% b)25% ¢)20% d) 10%

5x1=5

Answer any 2 of the following questions from 6
- 8. Each carries 2 score,

6.  B.Ltd purchased asset worth Rs. 10 lakh and
tookover liabilities of Rs, 1 lakh from Suja
enterprises, B. Ltd issued 9% debentures of
Rs. 100 each at par for purchase consider-

ation. Pass necessary journal entries in the
Books of B. Ltd.

7. State any two limitations of financial
statement analysis

8. Give two examples of cash inflow from
investing activities '
Ix2=6

Answer any 3 of the following questions from
9 - 12 Each carries 3 score.

9. Discribe the purpose for which a company
can use the amount of securities premium un-
der section 78 of the companies Act 1956

10. Give journal entries for the following

mil) dlaudal R’ mudggmy
i) @emil dlawlaioss O] oatsd aoag”

5.  @arlales)ma equaio
DM Gasdnsly
GO0 G(atoadld a0GA4y0
o) 30% enfl) 25% @) 20% ) 10 %
5x1 =5
6 2@ 8 W0 Ganaymglcd agocmlene 2
LOMHAV) M. BIGRIMIM)o 2 AVEHIB Ao

1,50,000
30,000

6. B .Ld, qu® agajdeaaumics mlanie 10
Bldto Olat allei)gn apmiciw)e 1 clBo
@)l afleaolenmm miowyma)o
af}OQS)He}am). @Im)ale:0a0@] B. Lid 100/-
Qo Qeufleiw)gn 9% &Saj(@o
neualleides mem made)mn). B. Lid By
MBS0l AR GRAM@E ag)BSharud
) P}

7. adlmomdaty@d equdenag” anmoalimiailong
BOm@IL)e V6ME GaloRIT BB af)P) ).

8. 3008 @dadego (ano Laeaqyloss
ca@a?shﬂg"lau'ls)c@ @6NE PBIAOOEMEIRUE
0g)$I >, Ix2=6

9 M@ 12 WSO BalIayBEIEE agiomaleno 3

RO NS D) ®) . a3coamimie 3
wWedad afmo :

9. 1956 el @il smuml doaooise
DR dxurfl mloeomilea Qids)a] 78
(000 TSGR (aadlo m)s:
af)eTNOBE @RUUD Y EIRUBH600W]
2aIcWITIBa0.

10.  @OOPOWMAUWNS GRAMEE af)BSld:03
)},

a)

b)
at par

c)

John Ltd issued 2,00,000, 10% debentures of Rs. 100 each at par and redeemable at par
Lakshmi Ltd issued 1,00,000, 12% debentures of Rs. 100 each at a premium of 5% redeemable

Nath Ltd issued 50,000, 9% debentures of Rs. 100 each at a discount of 5% redeemable at
a H

par

i iculars prepare a
following particu
v ::t:t)gn::‘: of profit and loss account as per

revised schedule VI

. @00y om)m oﬂmmg‘lmﬂnﬂcm;o
dooamiod omowyd VI (nid00mpn

oqRReaasf 8oad olnadl @maf sy
@EREDENE DGO},
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Particulars

Revenue from operation
Adjusted purchases
Employees Benefit expenses
Depreciation
Finance Cost

| Administration Expenses

12, From the following information calculate the

cash flow from operating activities.

Amount

[2.00,000
9,00.000
100,000

50,000
10,000
10,600

12. - @aew mavlaloman aflaieenglod ajlon)e
@30l afiGgo (aho 610g [EOQl6IS
SIS wi6rpa lglon)o.

Particulars

Amount

Net profit for the year 2015

Expenses outstanding as on 1.1.2015
Expenses outstanding as on 31.12.2015
Interest received in advance on 01.01.2015
Interest received in advance on 31.12.2015

SEIN PU————— o 1 e

10,000
2,000
3,000
1,000
2.000

Answer the following question which carries 4

™Ie® MANIEIEMNM G223 5O

score. QUMD MY, 4 MICH0B 3x3 =9
13. Match the Following 3. Galojoals] GalB@HO)w:
A B ¥

a) Liquidity Ratio (1) Inventory IUI'I-I()VCI' Ratio

b) Solvancy ratio (ii? Net profit ratio

c)  Activity ratio (iii) Curre.nt ratio

d)  Profitability ratio (iv)  Proprietary ratio l le

x4 =4

Answer any 2 of the following question from 14
- 16. Each carries 5 score.

14. From the following statement of profit and loss
of Northern Tools Limited prepare a
comparative statement of profit and loss for
the year ended 3 1.3.2016 and 31.3.2017

14 MO 16 WO Ca1aYaNFId afOmIey 2
aaROMIN}  PONOHDOYM} . BFICOIGNIM0 5
mc»0d almoe

1. Northern Tools Lid. o0  moew
08:08)OTAGIAN)aD GARGOATF B0nll Claldndil)
@ cenqi-0n3 aRSIOoMONIed 20d 4]
2016, 2017 QUBAHENEIG @RAITVIMIENI Qo)
Sn00glai 6aoadld @A Gy CqRoanT

®QIOIHO) .
——
% Particulars Note No 2015-16 | 2016-17 |
5,000,000 \
Revenue from operation 50,00,000 73‘?0' ()]0() |
Cost of goods sold 35,00,000 55'(;(0’0”“ i,
Operating expenses 10,00,000 : i 110,000 \
Non operating €Xpenses 1,00,000 ’ :,rn%
Income tax 35% e ¥ IS -
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I5. Fromthe tollowing information findout

4} Gross profit ratio
bi  Operating ratio
¢)  Operating profit ratio

P ———

5. @089 6&IS)omIolean)amn ailauoeanglad
fTﬂ(T‘D;o

ag)) elwoTs Blatoanld GOGAUYO

énil) 80qya0glel GnGauyO

@) Bogjeodlel Ganadld oAy agTIA

B6TB) nilS]H6) &
! Particulars Amount
Revenue from operation 3,40,000
i Cost of revenue from operation 1’20’000
- Employees Benefit expenses 80,000
§eliin 2 and distribution express 60,000

16. From the following information calculate cash
paid for invertory

6. 0% e1:05)owiloleem allalosaRglcd
mlamyo M@BeaIfclendd] H&IS}OD T

6TR)ailS1H6) B

;

Particulars Amount

" Inventory as on 01.04.2015 60,000
Inventory as on 31.03.2016 40,000
Trade payable as on 1.4.2015 50,000
Trade payable as on 31.3.2016 20,000
Credit purchase of goods 1,80,000

2x5=10
Answer the following question which carries 8
score.

17. Modem industries Ltd issued 50000 equity
shares of Rs. 10 each at a discount of 10%
payable as follows.

Rs. 4 on application
Rs. 3 on allotment
Rs. 2 on first and final call

The issue was fully subscribed and all the
money was duly received with an exemption
of 400 shares held by Mr. Arun who failed to
pay the first and final call money. These
chares were forfeited and re issued to Kumar
upon the payment of Rs. 3000 as fully paid

up-
Give Journal entries in the Books of the
company to record these share capital

transactions
Ix8 =8

2x5=10
®IoY ®IMIE1ENaN GalddyomIN POMO
ODOYM)dh, 8 MVCHIA

17.  Modem industries Ltd 10 @)1 maunileio)ss
50000 TLOWOOEM GBIaN@HUd 10%
Wl 89 DerEl w3 @269 |0W)0 (alH000
M@ )N},
@R flcancumd aeml 4 ®)al
@RGCEIgO0F 26Tl 3 @)al
@RYBCOMV)e ERAKTVIMEOMW]o GIUd @I
2 @)al
MLIUB BOGISHUBHE BREAIGH LIEEH)HW)o
2}9}UMB B2a0CIHBlo @RGRIVS B2l m).

Mr. @R} §eM:0Ie Qla] 400 HHDGIB cam
@RBHVDV}o @RAITVIMOTN@0 B:0G3 D6
89190d afQl0 ®ém®:8)0 eiRlay). @D
DHDO}®W Gan0Ban1f Saig@®)o aflamls
@)@00107 3000 Q)aIdas andsaow)o @RS a))

®13Om BIaNBIBSIW) all@dseymm,).

SHMINIOS MBI DD Bat1d & 30a flgmd
(0B VI BHM M GRS} Om) M @1MI

AUV CRAMA f)MB(Sld )9 B .
1x8 =8
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